
;+s]t g+=÷ljifout lzif{s M cfly{s ljsf; ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

1 1010 s[lif 10500

1=1 1010

;d"xut s[lifsf nflu aLpaLhg tyf af]6la?jf, 6g]n cflb 

ljt/0f, g;{/L, ;fgf s[lif kf]v/L, cfw'lgs cf}hf/ tyf kfOk cflb 

Joj:yfkg tyf cg'bfg -lr/ls§] kf]v/L_

cfjZostfg';f/ 8500 ljQLo ;dflgs/0f

1=2 1010 kz' tkm{ -cf}ifwL / pks/0fx? Vfl/b _ ufpFkflnsf :t/ 500 ljQLo ;dflgs/0f

1=3 1010
o'jf tyf dlxnf nlIft Joj;flos s[lif tyf kz'kfng ;DaGwL 

tflnd tyf cled'vLs/0f
ufpFkflnsf :t/ 500 ljQLo ;dflgs/0f

1=4 1010 s[lif cjnf]sg e|d0f ufpFkflnsf :t/ 1000 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo 650

2=1 1020
s'6fgL, lk;fgL, cf/0f, 5fnf pBf]u, l;nfO{ s6fO{ nufot 3/]n' 

tyf ;fgf pBf]u ;~rfng cg'bfg
ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f

2=2 1020
dlxnf nlIft 3/]n' tyf ;fgf pBf]u, Joj;flos ;Lk tyf 

pBdlzntf sfo{qmd
ufpFkflnsf :t/ 100 ljQLo ;dflgs/0f

2=3 1020
blnt nlIft 3/]n' tyf ;fgf pBf]u, Joj;flos ;Lk tyf 

pBdlzntf sfo{qmd
ufpFkflnsf :t/ 100 ljQLo ;dflgs/0f

2=4 1020
o'jf hfu/0f, ;zlQms/0f, o'jf ;Lk, pBdlzntf tyf g]t[Tj 

ljsf;
ufpFkflnsf :t/ 100 ljQLo ;dflgs/0f

2=5 1020 blnt cfkm/ aofgf j8f g+= ^ 150 ljQLo ;dflgs/0f

3 1030 ko{6g 300

3=1 1030 ko{6lso k|f]kmfOn lgdf{0f  ufpFkflnsf :t/ 300 ljQLo ;dflgs/0f

4 1040 ;xsf/L

5 1050 ljQLo If]q

11450

C0f hg;xeflutf

qm=;+= sfo{qmd÷cfof]hgfsf] gfd ljlgof]hg ?=
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;+s]t g+=÷ljifout lzif{s M ;fdflhs ljsf; ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

6 2010 lzIff 10000

6=1 2010 sf]6Lv]t df=lj= u]6 ;lxt 3]/jf/ j8f g+= ^ 400 ljQLo ;dflgs/0f

6=2 2010 dx]Zj/L df=lj= zf}rfno o'l/gn ;lxt lgdf{0f j8f g+= & 300 ljQLo ;dflgs/0f

6=3 2010 O{Zj/ lg=df=lj= 3f6vf]nf ejg tnf yk j8f g+= $ 1500 ljQLo ;dflgs/0f

6=4 2010 d]Nt8L df=lj= nDt8f afFsL 3]/jf/ j8f g+= # 500 ljQLo ;dflgs/0f

6=5 2010 nfdftf]nf p=df=lj= t6aGwg j8f g+= @ 150 ljQLo ;dflgs/0f

6=6 2010 hubDdf lg=df=lj= u]6 ;lxt 3]/jf/ j8f g+= ! 400 ljQLo ;dflgs/0f

6=7 2010 b'uf{ dxflnË p=df=lj= 3]/jf/ qmdfut j8f g+= $ 1000 ljQLo ;dflgs/0f

6=8 2010 efUof]bo k'/fgf] ejg dd{t sIff sf]7f PCC tnfdf a'Osn kmofs j8f g+= # 500 ljQLo ;dflgs/0f

6=9 2010 hgsNof0f lg=df=lj= 3]/jf/ u]6 ;lxt j8f g+= @ 500 ljQLo ;dflgs/0f

6=10 2010 afu]Zj/L lg=df=lj= dfofkf6f kmlg{r/ ejg dd{t j8f g+= ! 500 ljQLo ;dflgs/0f

6=11 2010 uf}/Lz+s/ k|f=lj= vnËf ejg lgdf{0f qmdfut j8f g+= $ 600 ljQLo ;dflgs/0f

6=12 2010 P}Zjo{ k|f=lj= kmlg{r/ / 3]/jf/ j8f g+= $ 200 ljQLo ;dflgs/0f

6=13 2010 /fi6«efiff k|f=lj= 5fqa:6L u]6 ;lxt 3]/jf/ j8f g+= % 400 ljQLo ;dflgs/0f

6=14 2010 b'Ub]Zj/L k|f=lj= u]6 ;lxt 3]/jf/ j8f g+= & 400 ljQLo ;dflgs/0f

6=15 2010 nfdfu8f k|f=lj= hok'/ u]6 ;lxt 3]/jf/ j8f g+= & 500 ljQLo ;dflgs/0f

6=16 2010 di6]Zj/L k|f=lj= 5f]6fv]t kmlg{r/ / ejg dd{t  j8f g+= % 100 ljQLo ;dflgs/0f

6=17 2010 di6]Zj/L k|f=lj= j8fsf]6 ejgsf] tnf yk j8f g+= ^ 500 ljQLo ;dflgs/0f

6=18 2010 vfk/]Zj/ k|f=lj= ;'tf/Lufp kmlg{r/, zf}rfno lgdf{0f j8f g+= % 200 ljQLo ;dflgs/0f

6=19 2010 lzz'bo k|f=lj= v'8Lvf]Nnf 5fgf dd{t / kmlg{r/ j8f g+= ^ 300 ljQLo ;dflgs/0f

C0f hg;xeflutf
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qm=;+= sfo{qmd÷cfof]hgfsf] gfd
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;+s]t g+=÷ljifout lzif{s M ;fdflhs ljsf; ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

C0f hg;xeflutf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

6=20 2010 vKt8 ejfgL k|f=lj= kf6fb]jn ‰ofn, 9f]sf ;lxt kmlg{r/ j8f g+= ^ 100 ljQLo ;dflgs/0f

6=21 2010 lz4sflnsf k|f=lj= s8fnufp kmlg{r/, u]6;lxt 3]/jf/ j8f g+= ! 300 ljQLo ;dflgs/0f

6=22 2010 eujtL k|f=lj= u8/fo ‰ofn, 9f]sf kmlg{r/ j8f g+= & 100 ljQLo ;dflgs/0f

6=23 2010 afldnL k|f=lj= ynf zf}rfno lgdf{0f / kmlg{r/ j8f g+= # 100 ljQLo ;dflgs/0f

6=24 2010 b'uf{ ejfgL ;+:s[t kf7zfnf zf}rfno lgdf{0f / kmlg{r/ j8f g+= $ 100 ljQLo ;dflgs/0f afFsL df}Hbft

6=25 2010 di6f k|f=lj= a]8'kf6f u8/fo zf}rfno / afnd}qL wf/f lgdf{0f j8f g+= & 100 ljQLo ;dflgs/0f afFsL df}Hbft

6=26 2010 z}lIfs ;DaGwL cltl/Qm lqmofsnfk tyf ljljw sfo{qmd ;~rfng ufpFkflnsf :t/ 250 ljQLo ;dflgs/0f

7 2020 :jf:Yo 2500

7=1 2020 ;fd'bflos :jf:Yo O{sfO{ ;+rfng j8f g+= # j8f g+= # 300 ljQLo ;dflgs/0f

7=2 2020 aly{Ë ;]G6/ :yfkgf / lg/Gt/tf aofgf / uf]v{fnL j8f g+= ^ / & 215 ljQLo ;dflgs/0f

7=3 2020 cfdf ;'/Iff sfo{qmd :jLk/sf] lg/Gt/tf ufpFkflnsf :t/ 390 ljQLo ;dflgs/0f

7=4 2020 k|of]uzfnf ;+rfng 5fGgf :jf:Yo rf}sL ufpFkflnsf :t/ 195 ljQLo ;dflgs/0f

7=5 2020 :jf:Yo rf}sL Aoj:yfkg ufpFkflnsf :t/ 110 ljQLo ;dflgs/0f

7=6 2020 cf}ifwL vl/b -:jf:Yo zfvf_ ufpFkflnsf :t/ 700 ljQLo ;dflgs/0f

7=7 2030 5fGgf /]8qm; Joj:yfkg ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f afFsL df}Hbft

7=8 2030
ax'If]qLo kf]if0f, :jf:Yo lzlj/ ;~rfng nufot cGo :jf:Yo 

;DaGwL sfo{qmd 
ufpFkflnsf :t/ 390 ljQLo ;dflgs/0f

8 2030 vfg]kfgL tyf ;;kmfO{ 11200

8=1 2030 vfg]kfgL lgdf{0f ;fdu|L vl/b -ljleGg cfof]hgfx?sf] nflu_ ufpFkflnsf :t/ 4000 ljQLo ;dflgs/0f
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;+s]t g+=÷ljifout lzif{s M ;fdflhs ljsf; ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

C0f hg;xeflutf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

8=2 2030

vfg]kfgL lgdf{0f -nfut O{li6d]6 cg';f/_ uf]vf{nL vfg]kfgL, 38f 

vfg]kfgL, wltaf8fsf] 8f8f vfg]kfgL, b/anf vfg]kfgL, 3f6vf]nf 

k;nau/ vfg]kfgL lgdf{0f, lzj dlGb/ vfg]kfgL lgdf{0f, dNnf 

k'hf/LufpF vfg]kfgL dd{t, nfdftf]nf vfg]kfgL

ufpFkflnsf :t/ 7000 ljQLo ;dflgs/0f

8=3 2030 ;/;kmfO{ ;DaGwL sfo{qmd ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f

9 2040 ;+:s[lt k|j4{g 5100

9=1 2040 blnt ;fd'bflos ejg lgdf{0f ;'gf/ufpF qmdfut j8f g+= # 500 ljQLo ;dflgs/0f

9=2 2040 lzjdlGb/ 3f6vf]nf ;+/If0f, dd{t ;'wf/ j8f g+= $ 1500 ljQLo ;dflgs/0f

9=3 2040 /fd dlGb/ u8/fo ;+/If0f, dd{t ;'wf/ j8f g+= & 1000 ljQLo ;dflgs/0f

9=4 2040 u'/]n dlGb/ ;+/If0f, dd{t ;'wf/ j8f g+= ^ 500 ljQLo ;dflgs/0f

9=5 2040 di6fdf08' 3]/jf/ / k|ltIffno lgdf{0f j8f g+= $ 200 ljQLo ;dflgs/0f

9=6 2040 di6fdf08' gf}/]naf8f j8f g+= % 400 ljQLo ;dflgs/0f afFsL df}Hbft

9=7 2040 dflnsf dlGb/ df]t'jf -;'gf/ 6f]n_ j8f g+= % 500 ljQLo ;dflgs/0f afFsL df}Hbft

9=8 2040 a]tfndf0f' /fhsf]6 -cfu|Lx?sf]_ j8f g+= ^ 500 ljQLo ;dflgs/0f afFsL df}Hbft

10 2050 v]ns'b tyf dgf]/~hg 1000

10=1 2050 v]ns'b k|ltof]lutf tyf k|j4{g sfo{qmd ufpFkflnsf :t/ 400 ljQLo ;dflgs/0f

10=2 2050 5fGgf bz} dxf]T;j ufpFkflnsf :t/ 600 ljQLo ;dflgs/0f

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 500

11=1 2060 dlxnf lbj;, dlxnf ;zlQms/0f, Ifdtf ljsf; tyf cled'vLs/0f ufpFkflnsf :t/ 250 ljQLo ;dflgs/0f

11=2 2060 afn Sna, afnaflnsfsf] g]t[Tj ljsf; ufpFkflnsf :t/ 50 ljQLo ;dflgs/0f

11=3 2060 h]i7 gful/ssf] ;Ddfg, ckfË nlIft sfo{qmd ;~rfng ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f

30300hDdf
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;+s]t g+=÷ljifout lzif{s M k"jf{wf/ ljsf; ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n 9700

12=1 3010 j8fsf]6 aofgf ;8s lgdf{0f j8f g+= ^ 3000 ljQLo ;dflgs/0f

12=2 3010 7"nf vf]nf b]lv vf}nf;Dd ;8s lgdf{0f j8f g+= $ 1000 ljQLo ;dflgs/0f

12=3 3010 P}r]nL b]lv /fgLufpF ;fF8af0ff ;8s lgdf{0f j8f g+= @ 2700 ljQLo ;dflgs/0f

12=4 3010 afukg]/f b]lv ;'gf/ufpF ;8s lgdf{0f j8f g+= # 700 ljQLo ;dflgs/0f

12=5 3010 s'r]vf]nf b]lv kf}jfu9L ;8s lgdf{0f j8f g+= ! 1200 ljQLo ;dflgs/0f

12=6 3010 :yfgLo ;8sx?sf] dd{t tyf ;'wf/ ufpFkflnsf :t/ 1100 ljQLo ;dflgs/0f ljQLo ;dflgs/0f

13 3020 l;FrfO{ 13800

13=1 3020 cf}nLs'nf] lgdf{0f j8f g+= $ 2000 ljQLo ;dflgs/0f

13=2 3020 ;f}hGo aofgf l;FrfO{ s'nf] lgdf{0f j8f g+= ^ 400 ljQLo ;dflgs/0f

13=3 3020 kf6fb]jn 36\6]ju/ l;FrfO{ s'nf] lgdf{0f j8f g+= ^ 800 ljQLo ;dflgs/0f

13=4 3020 dfofkf6f l;FrfO{ kf]v/L lgdf{0f j8f g+= ! 1500 ljQLo ;dflgs/0f

13=5 3020 j8fsf]6 l;FrfO{ s'nf] ufpFeGbf dfly j8f g+= ^ 500 ljQLo ;dflgs/0f

13=6 3020 tf]nL l;FrfO{ kf]v/L lgdf{0f j8f g+= @ 1200 ljQLo ;dflgs/0f

13=7 3020 /fhsf]6 l;FrfO{ kf]v/L lgdf{0f j8f g+= ^ 500 ljQLo ;dflgs/0f

13=8 3020 e'nsf 36\6 l;FrfO{ s'nf] lgdf{0f j8f g+= @ 300 ljQLo ;dflgs/0f

13=9 3020 8';L b]lv tNnL8f8f l;FrfO{ s'nf] lgdf{0f j8f g+= @ 300 ljQLo ;dflgs/0f

13=10 3020 lj/f l;FrfO{ s'nf] lgdf{0f j8f g+= @ 300 ljQLo ;dflgs/0f

13=11 3020 t'lqmwf/f x'9ª\uf l;FrfO{ s'nf] lgdf{0f df]t'jf j8f g+= % 500 ljQLo ;dflgs/0f

13=12 3020 af]u6Laf8f cf?vf]nf l;FrfO{ s'nf] lgdf{0f j8f g+= @ 1000 ljQLo ;dflgs/0f
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;+s]t g+=÷ljifout lzif{s M k"jf{wf/ ljsf; ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

13=13 3020 s'r]vf]nf tNnf]au/ l;FrfO{ s'nf] lgdf{0f j8f g+= @ 500 ljQLo ;dflgs/0f

13=14 3020 t]/kfnf l;FrfO{ s'nf] lgdf{0f j8f g+= ! 500 ljQLo ;dflgs/0f

13=15 3020 w8fe'jf kfOk4f/f l;FrfO{ s'nf] lgdf{0f -lhDsf]6_ vf=kf= j8f g+= # 1500 ljQLo ;dflgs/0f ljQLo ;dflgs/0f

13=16 3020 u}/fv]t l;FrfO{ s'nf] df]t'jf lgdf{0f j8f g+= % 500 ljQLo ;dflgs/0f

13=17 3020 lr/faf0ff l;FrfO{ s'nf] lgdf{0f -uf]vf{nL_ j8f g+= & 800 ljQLo ;dflgs/0f afFsL df}Hbft

13=18 3020 /afl;kf{ l;FrfO{ s'nf] lgdf{0f j8f g+= & 500 ljQLo ;dflgs/0f afFsL df}Hbft

13=19 3020 l;FrfO{ s'nf dd{t tyf ;'wf/ ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf;

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_ 14200

15=1 3040 e]/fvfgL n3'hnljB't cfof]hgf lgdf{0f j8f g+= & 5500 ljQLo ;dflgs/0f

15=2 3040 e]/fvfgL n3'hnljB't gx/ tyf ejg lgdf{0f / kf]n uf8\g] j8f g+= & 3500 ljQLo ;dflgs/0f

15=3 3040 vfk/]Zj/ n3'hnljB't gx/ kfOk vl/b / vf]bfgL j8f g+= ^ 4000 ljQLo ;dflgs/0f

15=4 3040 afdLnL k]N6L;]6 lgdf0f{ j8f g+= # 300 ljQLo ;dflgs/0f

15=5 3040 cGo ljB't dd{t ;Def/ / ;fdfg vl/b ufpFkflnsf :t/ 900 ljQLo ;dflgs/0f ljQLo ;dflgs/0f

16 3050 ;~rf/ 500

16=1 3050 /]8Lof] vKt8 Pkm=Pd= ;+rfng Aoj:yfkg -o'jf l;h{glzn ;dfh_ ufpFkflnsf :t/ 500 ljQLo ;dflgs/0f

38200hDdf
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;+s]t g+=÷ljifout lzif{s M jftfj/0f tyf ljkb Joj:yfkg ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

17 4010 jg tyf e"–;+/If0f 2000

17=1 4010 3f6vf]nf dfemLufpF hulbZj/ ;fd'bflos jg 3]/af/ j8f g+= $ 1000 ljQLo ;dflgs/0f afFsL df}Hbft

17=2 4010 e"Ifo lgoGq0f, klx/f] lgoGq0f ufpFkflnsf :t/ 300 ljQLo ;dflgs/0f afFsL df}Hbft

17=3 4010 kmf6\oft6aGwg -uf]vf{nL_ j8f g+= & 500 ljQLo ;dflgs/0f afFsL df}Hbft

17=4 4010 uf]vf{nL t6aGwg j8f g+= & 200 ljQLo ;dflgs/0f afFsL df}Hbft

18 4020 hnfwf/ ;+/If0f 600

18=1 4020 kfgL d'xfg tyf gbL s6fg t6aGwg tyf ;+/If0f ufpFkflnsf :t/ 300 ljQLo ;dflgs/0f afFsL df}Hbft

18=2 4020 d5fgLkftn t6aGwg j8f g+= ^ 300 ljQLo ;dflgs/0f afFsL df}Hbft

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f afFsL df}Hbft

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg ufpFkflnsf :t/ 200 ljQLo ;dflgs/0f afFsL df}Hbft

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg 2000

22=1 4060
ljkb Joj:yfkg tyf ;fdflhs ;'/Iff /fxt sf]if -sfo{ljlw agfO{ 

;f]xL adf]lhd vr{ ul/g]_
ufpFkflnsf :t/ 1500 ljQLo ;dflgs/0f ljQLo ;dflgs/0f

22=2 4060 vf]h tyf p2f/ ;fdu|L vl/b ufpFkflnsf :t/ 250 ljQLo ;dflgs/0f

22=3 4060
ljkb Joj:yfkg tyf hf]lvd Go"gLs/0f k"j{ tof/L ;r]tgf,  

k|lzIf0f sfo{qmd ;~rfng
ufpFkflnsf :t/ 250 ljQLo ;dflgs/0f

23 4070 jf?0f oGq ;~rfng

5000
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;+s]t g+=÷ljifout lzif{s M ;+:yfut ljsf;, ;]jf k|jfx / ;'zf;g ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

24 5010 ;fdfGo ;]jf

25 5020 ;'/Iff Joj:yfkg

26 4030 ;"rgf k|ljlw

27 4040 kl~hs/0f Joj:yfkg

28 5050 :yfgLo tYofÍ ;+sng / clen]v Joj:yfkg 500

28=1 5050 ufpFkflnsf u'?of]hgf tYofÍ ;+sng ufpFkflnsf :t/ 160 ljQLo ;dflgs/0f

28=2 5050 ufpFkflnsf u'?of]hgf÷k|f]kmfOn lgdf{0f ufpFkflnsf :t/ 340 ljQLo ;dflgs/0f

29 5060 ;'zf;g k|j4{g

30 5070 cg';Gwfg tyf ljsf;

31 5080 cGoq jlu{s[t gePsf]

500

32 31112 ejg lgdf{0f 5000

32=1 ;fj{hlgs ejg lgdf{0f ufpFkflnsf :t/ 5000 ljQLo ;dflgs/0f afFsL df}Hbft

33 31115 kmlg{r/ tyf lkmSr;{ 500

33=1 sfof{nosf nflu cfjZos kmlg{r/ tyf lkmSr;{{ vl/b sfof{no 500 ljQLo ;dflgs/0f

34 31121 ;jf/L ;fwg 4500

34=1 ufpFkflnsf sfof{nodf ;jf/L ;fwg -uf8L_ vl/b sfof{no 4500 ljQLo ;dflgs/0f afFsL df}Hbft

35 31122 d]l;g/L cf}hf/ 6104

35=1
ufpFkflnsfsf] ljsf; lgdf0f sfo{sf nflu x]le OlSjkd]G6 (Back 

Hoe Loader) vl/b, cGo
sfof{no 5404 ljQLo ;dflgs/0f afFsL df}Hbft

35=2 sfof{nosf nflu cfjZos d]lzg/L cf}hf/ vl/b sfof{no 700 ljQLo ;dflgs/0f

36 ;dk'/s sf]if 6000 ljQLo ;dflgs/0f

22104hDdf

C0f hg;xeflutf

hDdf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog x'g] 

:yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

;+s]t g+=÷ljifout lzif{s M cGo k"Flhut

8



;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 100

1 1010 s[lif 100

1=1 1010 hg;d'bfonfO{ cfof]l8g g'g vl/bdf cg'bfg j8f g+= ! 100 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo

3 1030 ko{6g

4 1040 ;xsf/L

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 1300

6 2010 lzIff 850

6=1 2010 dxlif{ ljZjfldq k':tsfno ejg lgdf{0f j8f g+= ! 250 ljQLo ;dflgs/0f

6=2 2010 z}n]Zj/L df=lj= ejg lgdf{0f j8f g+= ! 600 ljQLo ;dflgs/0f

7 2020 :jf:Yo 100

7=1 2020 :jf:Yo ejgsf] yk sf]7f j8f g+= ! 100 ljQLo ;dflgs/0f

8 2030 vfg]kfgL tyf ;/;kmfO{ 200

8=1 2030 uf]bfkfgL vfg]kfgL lgdf{0f j8f g+= ! 200 ljQLo ;dflgs/0f

9 2040 ;+:s[lt k|j4{g

10 2050 v]ns"b tyf dgf]/~hg

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 150

11=1 2060
dlxnf :jo+;]ljsf, ckfË, blnt, cgfy afnaflnsf 

hgr]tgfd"ns sfo{qmd
j8f g+= ! 150 ljQLo ;dflgs/0f

-u_ 30 k"jf{wf/ ljsf; 1700

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n 100

12=1 3010 d"n ;8s 8f8Lof b]lv sufn ufpF;Ddsf] 3f]/]6f] af6f]] j8f g+= ! 100 ljQLo ;dflgs/0f

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= !

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

9



;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= !

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

13 3020 l;FrfO{ 1000

13=1 3020 ef6s/ l;+FrfO{ kf]v/L lgdf{0f j8f g+= ! 200 ljQLo ;dflgs/0f

13=2 3020 uf]7vf]nf tNnf] 8f8Lofsf] tNnf] l;FrfO{ s'nf] j8f g+= ! 300 ljQLo ;dflgs/0f

13=3 3020 ul8ufpF dNnf] l;FrfO{ s'nf] j8f g+= ! 200 ljQLo ;dflgs/0f

13=4 3020 ;/fgL l;F+rfO{ s'nf] j8f g+= ! 150 ljQLo ;dflgs/0f

13=5 3020 :ofpnL l;+FrfO{ s'nf] j8f g+= ! 150 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf; 600

14=1 3030 l;dvf]nf k|ltIffno / vfg]kfgL lgdf{0f j8f g+= ! 200 ljQLo ;dflgs/0f

14=2 3030 j8f sfof{no ejg dd{t j8f g+= ! 400 ljQLo ;dflgs/0f

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg 400

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f 200

18=1 4020 v}/f8L t6jGwg lgdf{0f j8f g+= ! 200 ljQLo ;dflgs/0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg 200

20=1 4040 vftL ufpF 9n lgsf; j8f g+= ! 100 ljQLo ;dflgs/0f

20=2 4040 cf8]s'nf 9n lgsf; j8f g+= ! 100 ljQLo ;dflgs/0f

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 100

1 1010 s[lif 100

1=1 1010 s}nfz ;d"xnfO{ a+u'/ kfng cg'bfg j8f g+= @ 100 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo

3 1030 ko{6g

4 1040 ;xsf/L

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 670

6 2010 lzIff 370

6=1 2010 nfdftf]nf df=lj= u]6 lgdf{0f j8f g+= @ 120 ljQLo ;dflgs/0f

6=2 2010 hgsNof0f cfwf/e"t ljBfno k'/fgf] ejg dd{t j8f g+= @ 250 ljQLo ;dflgs/0f

7 2020 :jf:Yo 250

7=1 2020 :jf:Yo rf}ls Joa:yfkg j8f g+= @ 100 ljQLo ;dflgs/0f

7=2 2020 :jf:Yo rf}ls 5t lgdf{0f j8f g+= @ 150 ljQLo ;dflgs/0f

8 2030 vfg]kfgL tyf ;/;kmfO{

9 2040 ;+:s[lt k|j4{g

10 2050 v]ns"b tyf dgf]/~hg

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 50

11=1 2060 dlxnf, jfnaflnsf, h]i7 gful/s, ckfË ;Ddfg j8f g+= @ 50 ljQLo ;dflgs/0f

-u_ 30 k"jf{wf/ ljsf; 2730

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n 900

12=1 3010 j8f sfof{no b]lv af]u6L af8f kg]/f;Dd PCC j8f g+= @ 400 ljQLo ;dflgs/0f

12=2 3010 lhDsf]6 PCC af6f] j8f g+= @ 150 ljQLo ;dflgs/0f

12=3 3010 k"mnaf/L PCC af6f] j8f g+= @ 100 ljQLo ;dflgs/0f

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

hg;xeflutf

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= @

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

11



;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

hg;xeflutf

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= @

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

12=4 3010 /fjnaf8f b]vL lgdufp;Dd af6f] PCC j8f g+= @ 250 ljQLo ;dflgs/0f

13 3020 l;FrfO{ 1530

13=1 1020 /ftf9'Ëfb]lv tNnfau/ l;FrfO{ s"nf] lgdf{0f j8f g+= @ 100 ljQLo ;dflgs/0f

13=2 3020 b]xnL a8\8Ls'nf] lgdf{0f j8f g+= @ 200 ljQLo ;dflgs/0f

13=3 3020 k8]vfg b]vL uhgynf;Dd kfOkåf/f l;FrfO{ s'nf] j8f g+= @ 400 ljQLo ;dflgs/0f

13=4 3020 s'r]vf]nf sf};f8L l;FrfO{ s'nf] j8f g+= @ 150 ljQLo ;dflgs/0f

13=5 3020 afufkf6f tNnf] l;+FrfO{ s'nf] j8f g+= @ 200 ljQLo ;dflgs/0f

13=6 3020 lj/f ji6L l;F+rfO{ s'nf] j8f g+= @ 200 ljQLo ;dflgs/0f

13=7 3020 kftnv]t l;+FrfO{ s'nf] lgdf{0f j8f g+= @ 80 ljQLo ;dflgs/0f

13=8 3020 7f8fu9f b]lv vx/] ;8s d'lg l;rfO{ s'nf] j8f g+= @ 100 ljQLo ;dflgs/0f

13=9 3020 ;]h b]lv tNnfufpF l;FrfO{ s'nf] j8f g+= @ 100 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf; 50

14=1 3030 ;fljssf] $ / ^ l;dnkfgL j[4f>d lgdf{0f j8f g+= @ 50 ljQLo ;dflgs/0f

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_ 250

15=1 3040 kf8kfvf ljB't nfOg lj:tf/ j8f g+= @ 250 ljQLo ;dflgs/0f

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 50

1 1010 s[lif 50

1=1 1010 hg;d'bfonfO{ cfof]l8g g'g vl/bdf cg'bfg j8f g+= # 50 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo

3 1030 ko{6g

4 1040 ;xsf/L

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 1450

6 2010 lzIff 100

6=1 2010 efUof]bo lg=df=lj= vfg]kfgL dd{t j8f g+= # 100 ljQLo ;dflgs/0f

7 2020 :jf:Yo 450

7=1 2020 nDt8f aly{Ë ;]G6/ Joj:yfkg j8f g+= # 450 ljQLo ;dflgs/0f

8 2030 vfg]kfgL tyf ;/;kmfO{

9 2040 ;+:s[lt k|j4{g 800

9=1 2040 a]tfndf08f} dlGb/ If]q 3]/af/ j8f g+= # 300 ljQLo ;dflgs/0f

9=1 2040 wGhL/df08f} dlGb/ If]q dd{t ;'wf/ j8f g+= # 300 ljQLo ;dflgs/0f

9=1 2040 3§]]n dlGb/ If]q ;+/If0f j8f g+= # 100 ljQLo ;dflgs/0f

9=1 2040 bz} pT;j ;'gf/ufp j8f g+= # 100 ljQLo ;dflgs/0f

10 2050 v]ns"b tyf dgf]/~hg

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 100

11=1 2060 hflto 5'jf5't, afnaflnsf, dlxnf cled'lvs/0f j8f g+= # 100 ljQLo ;dflgs/0f

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= #

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

13



;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= #

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

-u_ 30 k"jf{wf/ ljsf; 2000

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n 200

12=1 3010 bf?ufp b]lv d]Nt8L;Dd af6f] lgdf{0f j8f g+= # 200 ljQLo ;dflgs/0f

13 3020 l;FrfO{ 1300

13=1 3020 lkgfuf8 wdfnL l;FrfO{ s'nf] j8f g+= # 500 ljQLo ;dflgs/0f

13=2 3020 ;fpg]v]t l;FrfO{ s'nf] lgdf{0f qmdfut j8f g+= # 800 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf;

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_ 500

15=1 3040 afldnL k]lN6s ;]6 lgdf{0f j8f g+= # 500 ljQLo ;dflgs/0f

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf

14



;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 600

1 1010 s[lif 75

1=1 1010 hg;d'bfonfO{ cfof]l8g g'g vl/bdf cg'bfg j8f g+= $ 75 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo 150

2=1 1020 xfp; jfO{l/Ë j8f g+= $ 150 ljQLo ;dflgs/0f

3 1030 ko{6g

4 1040 ;xsf/L 375

4=1 1040 ;okqL dlxnf ;xsf/L ;+:yf j8f g+= $ 125 ljQLo ;dflgs/0f

4=2 1040 ;+ud art tyf C0f ;xsf/L j8f g+= $ 50 ljQLo ;dflgs/0f

4=3 1040 5fGgf xl/ofnL s[lif ;xsf/L ;+:yf j8f g+= $ 200 ljQLo ;dflgs/0f

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 625

6 2010 lzIff 200

6=1 2010 >L b'uf{ dxflnË df=lj= afx| jftfj/0f ;'wf/ j8f g+= $ 200 ljQLo ;dflgs/0f

7 2020 :jf:Yo

8 2030 vfg]kfgL tyf ;/;kmfO{ 225

8=1 2030 9'u]gLrf}/ 6\of+sL lgdf{0f j8f g+= $ 100 ljQLo ;dflgs/0f

8=2 2030 ;'sfkf6L k'/fgL vfg]kfgL dd{t j8f g+= $ 125 ljQLo ;dflgs/0f

9 2040 ;+:s[lt k|j4{g 200

9=1 2010 njfrf]/ dlGb/ lgdf{0f 8F'u|L 200 ljQLo ;dflgs/0f

10 2050 v]ns"b tyf dgf]/~hg

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f

sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t

cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= $

qm=;+= sfo{qmd÷cfof]hgfsf] gfd

15



;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t

cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= $

qm=;+= sfo{qmd÷cfof]hgfsf] gfd

-u_ 30 k"jf{wf/ ljsf; 2125

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n 650

12=1 3010 g]6fsfl6of af6f] lkl;l; -dflyNnf] ufpF_ j8f g+= $ 300 ljQLo ;dflgs/0f

12=2 3010 g]6fsfl6of af6f] lkl;l; -tNnf] ufpF_ j8f g+= $ 200 ljQLo ;dflgs/0f

12=3 3010 gfl8vf]nf b]lv rf}gfNof;Dd af6f] j8f g+= $ 150 ljQLo ;dflgs/0f

13 3020 l;FrfO{ 875

13=1 3020 tf]n]gL l;FrfO{ s'nf] kfOk vl/b j8f g+= $ 100 ljQLo ;dflgs/0f

13=2 3020 gfl8vf]nf b]lv ejfgL;Dd l;FrfO{ s'nf] j8f g+= $ 475 ljQLo ;dflgs/0f

13=3 3020 5]8]ju/ l;FrfO{ s'nf] j8f g+= $ 300 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf; 600

14=1 3030 ;fd'bflos ejg lgdf{0f dflemufpF j8f g+= $ 600 ljQLo ;dflgs/0f

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg 150

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g 150

19=1 4030 j[Iff/f]k0f ejfgL dlGb/ If]q j8f g+= $ 150 ljQLo ;dflgs/0f

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 100

1 1010 s[lif

2 1020 pBf]u tyf jfl0fHo

3 1030 ko{6g

4 1040 ;xsf/L 100

4=1 1040 sflnsf ;xsf/L g'g 9'jfgL Aoj:yfkg j8f g+= % 100 ljQLo ;dflgs/0f

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 2400

6 2010 lzIff 1000

6=1 2010 sflnsf lg=df=lj= sDKo'6/ nufot z}lIfs Joj:yfkg j8f g+= % 500 ljQLo ;dflgs/0f

6=2 2010 afnlasf; lg=df=lj= 3]/jf/ j8f g+= % 500 ljQLo ;dflgs/0f

7 2020 :jf:Yo 50

7=1 2020
:jf:Yo Aoj:yfkg dlxnf :jf:Yo :jo+;]ljsf 

cled'lvs/0f 
j8f g+= % 50 ljQLo ;dflgs/0f

8 2030 vfg]kfgL tyf ;/;kmfO{ 850

8=1 2030 rf}/ vfg]kfgL ;'tf/LufpF j8f g+= % 300 ljQLo ;dflgs/0f

8=2 2030 sfn'v]tL vfg]kfgL dd{t ;fljs # j8f g+= % 550 ljQLo ;dflgs/0f

9 2040 ;+:s[lt k|j4{g 400

9=1 2040 sflnsf dlGb/ lgdf{0f a'uf}tf]nf j8f g+= % 400 ljQLo ;dflgs/0f

10 2050 v]ns"b tyf dgf]/~hg

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 100

11=1 2060 dlxnf hgr]tgf j8f g+= % 30 ljQLo ;dflgs/0f

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

hg;xeflutf

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= %

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

hg;xeflutf

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= %

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

11=2 2060 lszf]/L afnlaafx cGTo j8f g+= % 20 ljQLo ;dflgs/0f

11=3 2060 ckfË ;Ddfg j8f g+= % 50 ljQLo ;dflgs/0f

-u_ 30 k"jf{wf/ ljsf; 1000

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n

13 3020 l;FrfO{ 600

13=1 3020 u8v]t l;FrfO{ s'nf] 5fqa:6L j8f g+= % 400 ljQLo ;dflgs/0f

13=2 3020 ;]nfv]t l;FrfO{ s'nf] lgdf{0f j8f g+= % 200 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf; 400

14=1 3030 j8f sfo{fno 3]/jf/ j8f g+= % 400 ljQLo ;dflgs/0f

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 300

1 1010 s[lif 100

1=1 1010 hg;d'bfonfO{ cfof]l8g g'g vl/bdf cg'bfg j8f g+= ^ 100 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo

3 1030 ko{6g

4 1040 ;xsf/L 200

4=1 1040 ;xsf/L :yfkgf Aoj:yfkg tflnd j8f g+= ^ 200 ljQLo ;dflgs/0f

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 1650

6 2010 lzIff

7 2020 :jf:Yo 700

7=1 2020
aofgf :jf:Yo OsfO{ ejg dd{t tyf aly{Ë ;]G6/ 

Joj:yfkg
j8f g+= ^ 400 ljQLo ;dflgs/0f

7=2 2020 kf6fb]jn :jf:Yo rf}sL 3]/jf/ j8f g+= ^ 300 ljQLo ;dflgs/0f

8 2030 vfg]kfgL tyf ;/;kmfO{ 200

8=1 2030 l;ª8f vfg]kfgL lgdf{0f j8f g+= ^ 100 ljQLo ;dflgs/0f

8=2 2030 tNnf k'hf/L ufpF vfg]kfgL dd{t j8f g+= ^ 100 ljQLo ;dflgs/0f

9 2040 ;+:s[lt k|j4{g 400

9=1 2040 af6kfnf dlGb/ kf6fb]jn j8f g+= ^ 100 ljQLo ;dflgs/0f

9=2 2040 sflnsf dlGb/ /fhsf]6 j8f g+= ^ 100 ljQLo ;dflgs/0f

9=3 2040 ltpg] kfrufp e'jfv8f] lgdf{0f j8f g+= ^ 200 ljQLo ;dflgs/0f

10 2050 v]ns"b tyf dgf]/~hg 150

10=1 2050 ;}G8f8f d]nf Aoj:yfkg j8f g+= ^ 150 ljQLo ;dflgs/0f

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= ^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= ^

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 200

11=1 2060 dlxnf, afnaflnsf, ckf+u tyf blnt ;zltms/0f j8f g+= ^ 200 ljQLo ;dflgs/0f

-u_ 30 k"jf{wf/ ljsf; 1550

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n 200

12=1 3010 aofgf af6f] lgdf{0f tyf 9n lgsf; j8f g+= ^ 200 ljQLo ;dflgs/0f

13 3020 l;FrfO{ 900

13=1 3020 cf]vn9'Ëf l;FrfO{ s'nf] RCC lgdf{0f j8f g+= ^ 400 ljQLo ;dflgs/0f

13=2 3020 vl8v]t l;FrfO{ s'nf] dd{t j8f g+= ^ 300 ljQLo ;dflgs/0f

13=3 3020 aofgL v]t l;FrfO{ s'nf] j8f g+= ^ 200 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf; 450

14=1 3030 j8f sfo{no gofF ejg lgdf{0f j8f g+= ^ 450 ljQLo ;dflgs/0f

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

-s_ 10 cfly{s ljsf; 500

1 1010 s[lif 200

1=1 1010 hg;d'bfonfO{ cfof]l8g g'g vl/bdf cg'bfg j8f g+= & 100 ljQLo ;dflgs/0f

1=2 1010 d'gfn s[ifs ;d'x Aoj:yfkg j8f g+= & 100 ljQLo ;dflgs/0f

2 1020 pBf]u tyf jfl0fHo 300

2=1 1020 xft] sfuh Aoj:yfkg uf]vf{nL j8f g+= & 100 ljQLo ;dflgs/0f

2=2 1020 ef+8L lgdf{0f of]hgf j8f g+= & 200 ljQLo ;dflgs/0f

3 1030 ko{6g

4 1040 ;xsf/L

5 1050 ljQLo If]q

-v_ 20 ;fdflhs ljsf; 1450

6 2010 lzIff

7 2020 :jf:Yo

8 2030 vfg]kfgL tyf ;/;kmfO{ 750

8=1 2030 So'?v vfg]kfgL dd{t j8f g+= & 500 ljQLo ;dflgs/0f

8=2 2030 sfl6of vfg]kfgL dd{t j8f g+= & 250 ljQLo ;dflgs/0f

9 2040 ;+:s[lt k|j4{g 500

9=1 2040 s}Nk; df8' dd{t j8f g+= & 200 ljQLo ;dflgs/0f

9=2 2040 eujtL dlGb/ af6f] lgdf{0f nfdfu8f j8f g+= & 100 ljQLo ;dflgs/0f

9=3 2040 wf}nk'/ dlGb/ tyf 9n lgsf; j8f g+= & 200 ljQLo ;dflgs/0f

10 2050 v]ns"b tyf dgf]/~hg

11 2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/0f 200

11=1 2060 hflto lje]b, ckf+u, dlxnf ;zlQms/0f j8f g+= & 200 ljQLo ;dflgs/0f

sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= &

qm=;+= sfo{qmd÷cfof]hgfsf] gfd
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;+s]t g+=÷ljifout lzif{s ?= xhf/df

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

sfof{Gjog 

x'g] :yfg
nIo ljlgof]hg ?=

;|f]t

cfGtl/s ;|f]t
cGt/ ;/sf/L ljQLo x:tfGt/0f

C0f hg;xeflutf

jflif{s ljsf; sfo{qmd

cf=j= )&%.)&^

j8f:t/Lo sfo{qmd÷cfof]hgf M j8f g++= &

qm=;+= sfo{qmd÷cfof]hgfsf] gfd

-u_ 30 k"jf{wf/ ljsf; 1550

12 3010 :yfgLo ;8s, k'n tyf emf]n'Ë] k'n

13 3020 l;FrfO{ 1550

13=1 3020 dNnf /ftf9+'uf l;FrfO{ s'nf] j]8'kf6f j8f g+= & 500 ljQLo ;dflgs/0f

13=2 3020 d'u|f l;FrfO{ s'nf] lgdf{0f u8/fo j8f g+= & 300 ljQLo ;dflgs/0f

13=3 3020 s6nf]6of b]vL w'OkWof/f l;FrfO{ s'nf] uf]vf{nL j8f g+= & 200 ljQLo ;dflgs/0f

13=4 3020 dNnf] sf]nsf6}of b]vL tNnf] sf]nsfN6\of l;FrfO{ s'nf] j8f g+= & 200 ljQLo ;dflgs/0f

13=5 3020 58L vf]nf b]vL r'RrfxfNg];Dd l;FrfO{ s'nf] j8f g+= & 200 ljQLo ;dflgs/0f

13=6 3020 ;}lg l;FrfO{ s'nf] dd{t j8f g+= & 150 ljQLo ;dflgs/0f

14 3030 ejg tyf ;x/L ljsf;

15 3040 pmhf{, n3' tyf ;fgf hnljB't -j}slNks pmhf{ ;d]t_

16 3050 ;~rf/

-3_ 40 jftfj/0f tyf ljkb Joj:yfkg

17 4010 jg tyf e"–;+/If0f

18 4020 hnfwf/ ;+/If0f

19 4030 jftfj/0f ;+/If0f, hnjfo' kl/jt{g

20 4040 kmf]x/ d}nf tyf 9n Joj:yfkg

21 4050 hnpTkGg k|sf]k lgoGq0f

22 4060 ljkb Joj:yfkg

3500hDdf
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